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Total Marks: 50+50 = ”_._

PART-1: Multiple Choice Questions
(Use the OMR Sheet Supplied 1o Answer Questions: 1-50)
(For every wrong answer 0.25 marks wll be deducted)

Duration: 45 Minutcs _Marks: 50
Bangla (Marks-10)
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Fill in the blanks (Questons 11 - 15):
11. Country X will never stabilize 1ts economy if it does not
its disastrous nflationary spending practices.

A. exacerbate B. curtail C. strengthen  D. maximwe
A shght of the soil’s settling rate caused the
building’s foundation to_____, which led to the building
being deemed unusable.
A. estimaton, settle

C. miscalculation, shufr

12

B. deviation, bulge
D. permutanon, stabilize

13. The more she learnt the Amernican avil war, the more
fascinated wath it she became.
A of B. in C. at D. with

14. Wordsworth mtroduced the readers ___ a new kind of

poetry.
A for

B. about C.in D to
15. Kawvitha is accustomed doing wock under any type
of carcumstances.
A for B. of C. with D to

Choose the correct pair of words (Quesaons 16 - 17).
16. LIGHT: BLIND =

A. speech: dumb B. language: deaf

C. tongue: sound D. voice: vibratnon
17. Caravan: desert =

A. Boat Cruise B. Book: Newspaper

C. Midnight Noon D. Wheel: Car

Changcthcvoiccofdxcsmmcts(Quc_stions 18~19).

18. When I am alone, I hear the footsteps of my fnend n my
imagination.
A. The footsteps of my friend heard by me, when I am alone.
B. The footsteps of my friend is heard by me when I am aloe.
C. The footsteps of my friend are heard by me when I am
alone.
D-Thtfootstepﬁofmyﬁmdwheardb_vmwhmlm
alone.

19.

Mowies are not watched by him.
A He did not watch movics.
B. He do not watch movies

C. He does not watch movies.
D. He 1s not watched movies

Sentence Correction (Questons 20-22)
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35.

He 1s too important for tolczanog any delay
A. to wolerate B. to woleranng
C. at wleranng D with wicrating

The performance of our plavers was rather worst thao | had

axpected

A. bad as | had expected B. worse than | had expected
C. worse than expectation D worst than was cxpected
The tea-cstate admumstration s ja_such mess the = 50
leader to set the things nght
A. in such 2 mess here

C. 1n 2 such mess that bere
Antonym of PIQUE =

A. Hurt B Irk
“Chque” means

A. A group of amumals

C. A group of people

B. m such a mess thar there
D. with such 2 mess that there
C Joy D Huff

B. A group of buds
D. A group of fish

. 1diom “A slap on the wnst” means?

A. Hard Punishment B. Beaung Somenne

C. Warning or Small Pumsshment D. Make someone sad
Mathematics (Marks-15)

If the sum of the mtenor angles of a regular polygon measures

14407, how many sides does the polygon have”

A 10sides B. 8 sudes C 12 sades D 9 sdes

If the mean of numbers 28, x. 42, 78 and 104 = 62, what »

the mean of 48, 62, 98, 124 and x°

A58 B. 390 C78 D. 310

. The average age of 2 group of 10 students was 20. The average

age increased by 2 years when rwo new students jomed the
group. What is the average age of the rwo new students who
joined the group?

A 22years B 30 years C. 40 vears D 32 years
If the difference between the arcumference and dameter of
a arcle 1s 60 cm, then the radms of the crce s

A 7em B 9%cm C 10cm D 14cm

A unangular plot wath sides of 25 feet, 40 feet and 55 feet
to be surrounded by a fence buslt on pdiars set 5 feet apant
How many pillars will be required w0 surround the plot*
A2 B.2 cC2H D 24
Which of the followng 1s the lowest posiuve micger that =
divisible by 8,9, 10, 11 and 127

A 7920 B 5940 C 3,960 D 2970
As the price of mango has reduced 20%, 1 1s now possible 10
buy 2 mote mangoes ar Tk 12. What 15 the current price of
50 mangoes?

ATk50 BTe%w CTe3 D Tk &
A hat contams 12 cards marked with a star and 18 unmarked
cards. What 1s the probabdity that one card selected st mndom
will be marked with a stac?

A.3/5 B.2/5 C2/3 D 3/2

A rectangular room that 1s 8 meters by 5 meters s 0 be
carpeted usmng carpet costing $12.50 per square meter How
much will the carpet cost?

A 340 B. $500 C $100 D %
The ongmnal funding to buld 2 housng wis

$1.75 bilion. The funding was mcreased o §25 bdion By

what percentage was the onginal fundng mcreased-
A 38% B. 52% C 43% D.71%
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If x 15 an integer and y = 7x + 5, which of the following

CANNOT be a divisor of y?

A 10 B. 11 C.il2 D. 14

t\)“l::h number is divisible by 2, 3, 4, and 6 but is not divisible
v o7

A. 138 B 644 C. 1020 D. 1428

What 1s the average (anthmenc mean) of the values 39, 40, 39,

45, 42, 35,477

A3 B. 41 C. 45 D. 47

A wall 8m long, 6m high and 22.5 e¢m thick 1s made up of

bricks, each measuring 25 cmX11.25 cmX6 cm. The number

of bricks required was

A 7200  B. 6400 C. 6000 D. 5600
If logs2 = a and log,5 = b, then log,50 =

Aa+b Ba+bh C. ab2 D.a+2b
Which of the following 1s not an Islamic Bank?

A. Unuon Bank Ltd B. Exim Bank Ltd

C First Secunty Islami Bank Ltd.  D. Bank Al-Falah Ltd
What 1s the Statutory Liquidity Rauo (SLR) and Cash Reserve
Rano (CRR) for the Islamic scheduled commeraal banks in
Bangladesh’

A 18% D. 4%

B. 20% C. 11%

. Which of the following is not a bank or finance compaay?

A Barclays B. BNP Paribas C. Lufthansa ~ D. HSBC
How frequenty does the central bank announce monetary

policy in Bangladesh?

A Yearly  B. Quarterly C. Monthly  D. Half yeasrly
Freetown 1s the capital of

A Senegal B. Guinea C. Sierra leone  D. Libena

Which technology 1s used in compact disks?

A Mechanical B. Electrical  C. Electro Magnetic D. Laser
How much is the foreign exchange reserve of Bangladesh as
of January 20217

A $24,000 Million B. $42,670 Million

C. $27,450 Milkon D. $65,895 Million

What 1s the name of Turkish currency?
D. Pound

A Lira B. Euro C. Flonin

Dhaka Stock Exchange was founded 10

A 1996 B. 1954 C. 1991 D. 1974

How many goals are there 1n Sustainable Development Goals

(SDG)?

A 12 B. 13 C.25 D. 17
PART-II: Writing Ability Test

1se the Written Answer Script Supplied to Answer Questions: 51-55)

You play a team sport with some friends. Last week a member
of the team had an acadent and was not able to play with you
at the weekend. You decide to write to him in hospital, telling
him about the match. Wnte 2 letter to your friend. In y(r{uox)r

» tell him which team won

«  describe the conditions on the day

«  say how you felt about the match

55. Solve the following problems:

52. Translate the following paragraph into Enghsh:

WY AT T NE T IEET ST 9 T TA | T 20
I TN T Tufer: IraeTs Wi e IEEE T
AETE WS T | 9% MEFG (WA S T ES IAFT
arimm farn wdifer afge swFwR e T¢ TWE F
Beormeite IS At o7 379 Ffess FORy= @I T T T
B T 7 APT TG | BT AWEHS ST AT T LA
RS saaig o3 ¥foEe Srim=E A BT T IrEs
fafvrarT ffve ware @2 | (10)

53. Translate the following paragraph mnto Bangla:

The issue of women's contribunon to agniculture as well as
access to land is a crucal 1ssue but ir 15 not given proper
recognition. Women play a huge role in agnculture, be it the
cultivation of land or processing of the produce or even in
households. Globally, women own very lrtle land compared
to men and with the ongoing COVID-19 pandemuc, thus 1ssue
has become all the more tmportant to be addressed We need
to change our perception of women's role m the work that
they are doing, especially in production i rural areas 10)
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o 100

(2x5=10)

A. Train X leaves New York at 10:00AM and travels Eastata
constant speed of x miles per hour If another Tran Y
Jeaves New York at 11:30AM and travels East along the
same tracks at speed 4x/3, then at what ume wall Tram Y
catch Train X?

B. When the price of oranges is lowered by 40%, + more
ozangescanbepurchzsodforﬂzth:ncmbcpurchued
for the original price. How many oranges can be purchased
for 24 dollars at the original price?
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